X = 0.1011 0111 10 (734,/1024)

S = 0.1101 1000 11 00 (3468/4096), negative sticky bit



X 0000.1011 0111 1000 So = 0001.0000 0000 0000
WSy=4(X—-1) 1110.1101 1110 0000 S Moy = 0000.0000 0000 0000
WCy 0000.0000 0000 0000 Ky = 0001.0000 0000 0000

Cp = 1111.0000 0000 0000

Step 1: WSo 1110.1101 1110 0000
WCy 0000.0000 0000 0000 (Winsps = 1110.110 so s1 = —1)
F, =25 - K, 0001.1100 0000 0000 S1 = 0000.1100 0000 0000
SM; = 0000.1000 0000 0000
sum 1111.0001 1110 0000 <2 K, =0000.0100 0000 0000
carry 0001.1000 0000 0000 <2 C1 = 1111.1100 0000 0000
Step 2: WS, 1100.0111 1000 0000
wWC 0110.0000 0000 0000 (Winsbs = 0010.011 so sg = 2)
Fy=—-45) — 4K, 1100.1100 0000 0000 S = 0000.1110 0000 0000
SMsy = 0000.1101 0000 0000
sum 0110.1011 1000 0000 <2 Ko = 0000.0001 0000 0000
carry 1000.1000 0000 0000 < 2 Ce =1111.1111 0000 0000
Step 3: W Sa 1010.1110 0000 0000
WCs 0010.0000 0000 0000 (Winsbs = 1100.111 so s3 = —2)
F3 =455 — 4K3 0011.0111 0000 0000 S3 = 0000.1101 1000 0000
SM3 = 0000.1101 0100 0000
sum 1011.1001 0000 0000 <2 K3 = 0000.0000 0100 0000
carry 0100.1100 0000 0000 < 2 C3 =1111.1111 1100 0000
Step 4: W Ss 1110.0100 0000 0000
WCs 0011.0000 0000 0000 (Winsbs = 0001.010 so s4 = 1)
Fy=-25;—- K4 1110.0100 1111 0000 Sy = 0000.1101 1001 0000
SM, = 0000.1101 1000 0000
sum 0011.0000 1111 0000 <2 K4 = 0000.0000 0001 0000
carry 1100.1000 0000 0000 <2 Cy=1111.1111 1111 0000
Step 5: WSy 1100.0011 1100 0000
WCy 0010.0000 0000 0000 (Winsbs = 1110.001 so s5 = —1)
F; =254 — K5 0001.1011 0001 1100 S5 = 0000.1101 1000 1100
SMs = 0000.1101 1000 1000
sum 1111.1000 1101 1100 <2 K5 = 0000.0000 0000 0100
carry 0000.0110 0000 0000 <2 Cs = 1111.1111 1111 1100
Step 6: W S5 1110.0011 0111 0000
WCs 0001.1000 0000 0000 (Winsbs = 1111.101 so sg = 0)
Fs = 0000.0000 0000 0000 Se = 0000.1101 1000 1100
SMe = 0000.1101 1000 1011
sum 1111.1011 0111 0111 < 2 K = 0000.0000 0000 0001
carry 0000.0000 0000 0000 <2 Ce = 1111.1111 1111 1111

Terminate Square Root 0000.11 01 10 00 10 (11)



X = 0.1001 0101 00 (596/1024)

S = 0.1100 0011 01 01 (3125/4096)



X
WS = 4(X — 1)
WCo

0000.1001 0101 0000
1110.0101 0100 0000
0000.0000 0000 0000

1110.0101 0100 0000
0000.0000 0000 0000
0001.1100 0000 0000

1111.1001 0100 0000
0000.1000 0000 0000

1110.0101 0000 0000
0010.0000 0000 0000
0000.0000 0000 0000

1100.0101 0000 0000
0100.0000 0000 0000

0001.0100 0000 0000
0000.0000 0000 0000
1110.0111 1100 0000

1111.0011 1100 0000
1000.1000 0000 0000

1100.1111 0000 0000
0010.0000 0000 0000
0001.1000 0111 0000

1111.0111 0111 0000
0001.0000 0000 0000

1101.1101 1100 0000
0100.0000 0000 0000
1110.0111 1001 1100

0111.1010 0101 1100
1000.1011 0000 0000

1110.1001 0111 0000
0010.1100 0000 0000

Terminate

0001.1110 1001 0111
1110.0010 1100 0000

Sp = 0001.0000 0000 0000
S Mo = 0000.0000 0000 0000
Ky = 0001.0000 0000 0000
Cp = 1111.0000 0000 0000

(Winshs = 1110.010 so s; = —1)
Sy = 0000.1100 0000 0000

SM; = 0000.1000 0000 0000
K1 = 0000.0100 0000 0000
C; = 1111.1100 0000 0000

(Winshs = 0000.010 so s3 = 0)
S5 = 0000.1100 0000 0000

SMy = 0000.1110 0000 0000
K5 = 0000.0001 0000 0000
Cy = 1111.1111 0000 0000

(Winsbs = 0001.010 so s3 = 1)
S3 = 0000.1100 0100 0000

SMs = 0000.1100 0000 0000
K3 = 0000.0000 0100 0000
C3 =1111.1111 1100 0000

(Winsps = 1110.111 s0 s4 = —1)
Sy = 0000.1100 0011 0000

S M, = 0000.1100 0010 0000
K, = 0000.0000 0001 0000
Cy = 1111.1111 1111 0000

(Winsbs = 0001.110 so s5 = 1)
S5 = 0000.1100 0011 0100

SMs = 0000.1100 0011 0000
K5 = 0000.0000 0000 0100
Cs = 1111.1111 1111 1100

(Winsbs = 0001.010 so sg = 1)
S5 = 0000.1100 0011 0101

SMs = 0000.1100 0011 0100
K5 = 0000.0000 0000 0001
Cs =1111.1111 1111 1111



